
MAEC-01

December - Examination 2019

M.A. (Previous) Economics Examination

Economic Theory - I
Am{W©H$ {gÕm§V - 1

Paper - MAEC-01
Time : 3 Hours ]	 [ Max. Marks :- 80

Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 (IÊS> - "A')
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&
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1)		  Give answer of the following questions.

	 (i)	 What do you mean by income elasticity?

		  Am¶ bmoM go Amn ³¶m g‘PVo h¢?

	 (ii)	 Draw an indifference curve of complementary goods.

		  nyaH$ dñVwAm| H$m EH$ CXmgrZVm dH«$ ~Zm¶|&

	 (iii)	 Define Marginal utility.

		  gr‘mÝV Cnmo{JVm H$mo n[a^m{fV H$s{OE&

	 (iv)	 Draw income consumption curve.

		  Am¶ Cn^moJ dH«$ ~Zm¶|&

	 (v)	 Define Diminishing Returns to Scale.

		  n¡‘mZo Ho$ õmg‘mZ à{V’$b H$s ì¶m»¶m H$s{OE&

	 (vi)	 Define second best theorem?

		  {ÛVr¶ loîR> à‘o¶ H$mo n[a^m{fV H$s{OE&

	 (vii)	What is meant by Kinked damand curve?

		  {dHw§${MV ‘m§J dH«$ go ³¶m A{^àm¶ h¡?

	 (viii)	Define Homogeneity of products.

		  g‘ê$nr dñVwAm| H$mo n[a^m{fV H$s{OE?
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	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 8 marks.

(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 8 A§H$m| H$m h¡&

2)	 Explain new welfare theorem.
	 Zd H$ë¶mU à‘o¶ H$s ì¶m»¶m H$s{O¶o&

3)	 What do you understand by consumer Equilibrium?
	 Cn^mo³Vm gmå¶ go Amn ³¶m g‘PVo h¢?

4)	 Explain Chamberlin Model.
	 Moå~a{bZ ‘m°S>b H$s ì¶m»¶m H$s{OE&

5)	 Discuss Hicks’s compensation principle theory?
	 {h³g Ho$ j{Vny{V© {gÕmÝV H$s MMm© H$s{OE&

6)	 Explain Equilibrium of Industry in the Long Run under perfect 
competition.

	 nyU© à{V¶mo{JVm ‘| XrK©H$mb ‘| CÚmoJ Ho$ gmå¶ H$s ì¶m»¶m H$s{OE&

7)	 Explain law of variable return.
	 n[adV©Zerb AZwnmVm| Ho$ {Z¶‘ H$s ì¶m»¶m H$s{OE&

8)	 Write the concept of Quasi Rent.
	 Am^mg bJmZ H$s AdYmaUm {b{IE&

9)	 Write a short note on speculative demand.
	 gÅ>m ‘m§J na EH$ bKw {Q>ßnUr {b{IE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
16 marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 16 A§H$m| H$m h¡& 

10)	 Explain Revealed Preference theory.
	 àH${Q>V A{Y‘mZ {gÕm§V H$s ì¶m»¶m H$s{OE&

11)	 Explain concept of cost with the help of tables and diagrams.
	 bmJV H$s AdYmaUm H$s ì¶m»¶m Vm{bH$mAm| Ed§ aoIm{MÌm| H$s ghm¶Vm go 

H$s{OE&

12)	 What you mean by monopoly? Determine price and output in 
short run and long run of monopolist by the help of diagrams.

	 EH$m{YH$ma go Amn ³¶m g‘PVo h¢¡? EH$m{YH$mar H$m AënH$mb Ed§ 
XrK©H$mb ‘| aoIm{MÌm| Ho$ ‘mÜ¶‘ go H$s‘V Ed§ CËnmXZ {ZYm©aU H$s{OE&

13)	 Write short notes on any two of the following :

	 i.	 Differentiate between collusive and non collusive oligopoly.

	 ii.	 Marginal Productivity theory of Distribution.

	 iii.	 Modern theory of Rent.
	 {ZåZ ‘| go {H$Ýht Xmo na bKw {Q>ßnUr H$s{OE&
	 i.	 g§{Y Ed§ J¡a g§{Y Aënm{YH$ma {d^oX&

	 ii.	 {dVaU H$m gr‘mÝV CËnmXH$Vm {gÕm§V&

	 iii.	 bJmZ H$m AmYw{ZH$ {gÕm§V&


